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2 1 2 1
IIpu ycioun |a| > 1 BbIpaxkeHue \/1——1—2 - \/1+—|—2 pasHo /
a a a a

2 1 2 1
Provided |a| > 1 expression \/1 -+ = - \/1 + =+ — is equal to
a a a a

D: B [E: ©o [

Ecou yrou, cMeKHBIN yIily IpH BEPIIHHE PaBHOOEIPEHHOIO TPEYTOJIbHUKA Pa-
Ber 110°, To yros mMex 1y GOKOBOII CTOPOHOI M BBICOTOI, POBEJIEHHON K OCHO-
Banuio, pasen / If the angle adjacent to the angle at the apex of an isosceles
triangle is 110°, then the angle between the side and the height drawn to the

base is
25° [2] 55° 45° [4] 30° 35°

10

Yro6bI cymMMa TIEpPBBIX 4jIeHOB mporpeccun 21;15;9; ... paBHsIaCh HYJIIO, HEOD-
XOJMMO B3sTh X B Kosmdectse / To make the sum of the first members of the
progression 21;15;9; ... equal to zero, it is necessary to take them in quantity of

[1] 5 [2] 8 [38] 7 [4] 6 [5] 9

11

\/302—335—1—2_\/302—395—1—2
r+3  22+1,5
\/322—31:+2_\/z2—3z+2
r+3 - 224+1,5

;152 [2] 1,5 4] 1; 15

YpaBuenue nmeer kopHun / The equation

has roots

1,5; 2 1;2

12

[Ipousse/ieHre KOOPAMHAT BCeX TOUYeK TMepecedenus smuuil 72 —y? =12 u
222 — 3wy + y? = 12 pasno / The product of the coordinates of all the points
of intersection of the lines 22 — y? = 12 and 22% — 3zy + y?> = 12 is equal to
64 Izl —64 9TH JIMHAK He Tepecekatorcest / the lines do not intersect

[4] -8 [5] 8
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1 1—42® (22 -1)
3HaveHne BBIPAYKEHUS r . (2e—1) upu x = —0,25 pasuo / Calculate
) 2?2 —4x 22— 16
1—4z? (22-1)
: if © =—-0,25
22— Az 22-16
[es [ s Eu  [Bs
13 44,13 13 4+4,13
2 Borauciiurh pr+d 7,1-4,1 / Calculate pr+d 7,1-4,1
11,2 11,2
5,4 [2] 9 16 [4] 89 4
3 | Cuagana npomm 15% Beero mytm, a morom 20% ocrarka. Ckombko % Bcero
nyTu ocrajgoch upoiitu? / First, we went through 15% of the whole way, and
then 20% of the remainder. How much % of the whole way is left to go?
68% [2] 65% 60% 59, 5% 70%
4 5 ., =\ 05
BorauciauTn \/(\f -2,5)" — \/(1, 5— \/6) / Calculate
0,5
(Vo297 {15~ 8)")
% B B [@vaeoi [ a-2s
5 tr+38 35
Oupenennth © U3 COOTHOIUIEHUS 7 : <5$ * —|—9) = / Find z from 7 :
x
1
(= 40) - 2
20 [2] 40 30 10 [5] 50
7 1 1 7
6| Beoma— - = —, To BbIpaxkenne a’ + — papno / If a — — = —, then the
a (i a? a 6
expression a’ + — s equal to
a
61 25 121 97
1| 2,5 — 3| — 4| — 5| —
' 36 3] 36 4] 36 5] 36
7 | Tosbicus ckopocrsb noe3za ua 10 KM /4, yIaa0ch COKpaTuTh Ha 1 1 Bpems, 3aTpa-
YHUBaEMOe II0e3/10M Ha rpoxoxkaeHne myTu B 720 kM. IlepBonadasnbaas cKOpocTh
noesna pasHa / By increasing the speed of the train by 10 km /h, it was possible
to reduce the speed by 1 hour from the time it takes for a train to cover a track
of 720 km. The initial speed of the train was
50 km/4 / 50 km/h 70 km/4a / 70 km/h 80 xm/4 / 80 km/h
E' 60 kM/g / 60 km/h 40 km/4 / 40 km/h

1 1 1
+ + ot =
VBT+ V38 V384 V39 V168 + V169

1
+ +oiit ——

V37 V37T+38  V/38++39 V168 + /169
[5] 19

168 — /37 VIGS + V37 [4] 6

Brraucants

/

5

1
4

w
H;

Calculate

[1] 7

+
+

/36
[2]

14

I[Ipousseenne xopheit ypasuenus (22 + 2)% + 2* = 20 pasno / The product of
the roots of the equation (22 + 2)2 + 2% = 20 is equal to

[] -2 [2] 4 [3] 16 [4] -16 [5] 2
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7,661 + 2,23y = 27,66
2,237 + 7,66y = 22,23
7.662 + 2.23y = 27.66

2.237 + 7.66y = 22.23

3,54 1

Ecmu x n Y YAOBJIETBOPAIOT CHUCTEME { TO Pa3HOCTb

x —y pasua / If x and y satisfy the system { then the

[38] 1

difference z — y is

[1] 2 [2] 2

16

[Tapa6omna y = 222 — 3z — b kacaercs ocu abcmuce ipu / The parabola y =
222 — 3z — b is tangent to the abscissa at

4 9 9
b=-3 [2] b=2 b=-2

8

4
b=2 b=35

17

3 3
VYpasuenue |(z + 3)(x — 1)| = g nmeer / Equation |(z 4 3)(z — 1)| = g has
2 kopust / 2 roots E 1 kopenn / 1 root 4 xopust / 4 roots
3 xopust / 3 roots

He MMeeT KOpHeil / no roots

18

Haumenbinee pernterne HepaBeHCTBA 2|z + 2| < © 4 4 IPUHAIIEKUT TPOMEKYT-
ky / The smallest solution of the inequality 2|z + 2| < x + 4 belongs to the
interval

(1;2) [2] (-0,5;0,5) (-1,5;0,5) [4] (—4;-3) (—3;-2,5)

19

[Inomans TpeyrosbHUKA, OIPAHUYEHHOIO OCAMHU KOODIMHAT U IIPSAMOIL

2
y=2— —z(a#0), 6ompme 9, ecm / The area of a triangle bounded by the
a

2
axes of coordinates and the line y = 2 — —x(a # 0) is greater than 9 if

a
[1] la|>3 [2]a>=%3 [38]lal>2 [4] a<+3 [5] la|<3

20

Pemennenm ypasuenns (2,5) 7! - (55)2*73

equation (2,5)%71 - ()23 =1 is

25
0,8 1 0, (6)

= 1 asasierca / The solution of the

[4] 1.(6) 0,75

21

x .
MHozkecTBO pelneHuii HepaBeHCTBa 1 < P < 2 pasuo / The set of solutions
T —

x
to inequality 1 < P < 2 is equal to
T —

(—00;2) El (2; +00) (—o0;4) (4; 4+00) (—00;2) J(4; +00)

22| O6macts onpesenenns bynxmm y = /x(z + sin40°)(z + tg40°) cosnamaer c
muozkecrsom / The domain of the function y = /z(x + sin40°)(z + tg40°)
coincides with the set
(—o0; — tg40°] [~ sin40°0]  [2] [~sin40°;0] [— tg40°; 0]
[—sin40°; 4-00) [—tg 40°; — sin 40°] |J[0; +00)

23| Ilnomwans dburypsl, onpenensemoil ycaopusamu |z| + |y| < 4, u y < —|z|, paBua
/ The area of the figure defined by the conditions |z| + |y| < 4, and y < —|z],
is equal to
A Ew 1 @ [

24| Bce 3madenusi a, npm KOTOPBIX CHCTE€Ma ypaBHEHWl y = —x + a, 2 + y2 =3
umeer perrenus, obpazyior muoxkecrBo / Find the set for all the values a for
which the system of equations y = —x + a, 2% + y? = 3 has solutions
—v3:v8 [2] [-v6ive [5] 03] [4] [-v&iv6 [5] -1y

25| Beipaxenne cos (o — F)-tg (o — 3%)-tg (8w — a) pasno / Calculate cos (a — %)
tg (o — %) - tg (87— o)
cos o Izl —cos tg? o - sina sin —sina

26| Muoxkectso snadenuit bynknun y = (sinz + cosz)? pasno / Find the set of
values for the function y = (sinx + cosx)?
0:v2) 2] [0:1) [-2;2] 1] 0;2]

27| Ywmcio kopmeit ypapnenus cos (§ — ) = % -z pasHo / The number of roots of
the equation cos (5 —z) =2 -z is
Goubiie Tpex / more than three 3 2
yPaBHEHUE He UMeeT KOpHeil / no roots 1

28 cos a — cos 3 cosa — cos 3
Jpobs ————— npu yeaosuu a— 3 = 135° pasua / Calculate —

sin o + sin 8 sin « + sin 8
given o — f = 135°
1-v2  [2] v2+1 V2-1  [4]1 V21
29| Cymma HanGOIBIIIX W HAMMEHBINNX 3Hadennit bynkmmii y = 22 uy = —3x + 2,

3a/IaHHBIX Ha oTpeske [—2; 1], paBrHa / The sum of the largest and smallest values
of the functions y = 2% and y = —3x + 2 specified in the segment [—2; 1], equals

[1] 12 [2] 11 [3] 9 [¢] 7 [5] 5
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30| O6umacts snasenmii bynkmmm y = 1+ — 1 COBITAJIAET C MHOXKECTBOM
x? —4x
The range of values of the function y = 1+ —————— coincides with the set
22 —4x+5

/
(1;2] [2] [2:+00) [3] (—oci2) [4] (—o0s)U(L:2] [B] (—oc; +o0)

[6]
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